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YO LADRAR

YO ACABAR

USTED VER

YO CORRER

TU CORRER

USTEDES IR

USTED COCER

USTED ABRIR

USTED ACABAR

USTED CUBRIR
USTED CORRER
TU CONVENCER
USTEDES BEBER
USTEDES SERVIR
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Preterite vs Imperfect
Conjugations (4/26)

<>TO0OS>PN<MBBSIO>CITAOOO>M

-_ —_ —_ 0O - dmOoOCwmCWOWmMmMm-—-—-=2Z2=<Zx
OXxX>»TV>XTOMM—XITT>PO0OM—ITOMODO

Cmzuouzz<C<ITxII-—-—-XTXTIOrPrPz=z<o0nTI
W>E®>rMoOo-—-—-—2—-—03T< ®®OTMZ> —
— > IrIT<< mMmmn-—»r N0 -—-~C>»<<O0—
Tz ——=TTzZ0n4d0-4H0—-CCOITZ0OOTM
< »VW>»OTrOoOmMmurAmMmmOr OT7TnTO0OO0w
- N> TV O<LX>P—-2>TD-TO<<COHOOL

MmO TMTWIXTOAXWWOXXM—OXTOMOO0O—O0

YO VER

TU VER

YO CREER

YO COCER

YO SERVIR

TU ABRIR

TU ABRIR

TU ACABAR

YO COMPRAR

YO APARECER
USTED CREER
USTED BESAR
USTED LADRAR
USTED LADRAR
USTED SERVIR
USTEDES ABRIR
USTED APARECER
NOSOTROS BESAR
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USTED IR
USTED IR

YO ABRIR

TU CREER

YO CUBRIR
USTED VER

TU CUBRIR
USTEDES IR

USTED BEBER
USTED COCER
USTED ABRIR

YO CONVENCER
USTED CUBRIR
NOSOTROS VER
USTEDES COCER
USTEDES ACABAR
NOSOTROS COCER



NOSOTROS ABRIR



NOSOTROS CREER



NOSOTROS BEBER
USTED CONVENCER USTEDES APARECER
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